
1ª baixa:

160920-A

EhPrimeiraParcela: true
VlrBor := (SRound((((aVlrMov + ((xIR*(VlrMovAux/RegTcp.VlrOri))) + 
((xISS*(VlrMovAux/RegTcp.VlrOri))/xNumeroParcelas)) - aVlrDsc + 
xAdiantamento.AdiantamentoCalculado) * xQuery.Fields[2].AsFloat / 
(xQuery.Fields[1].AsFloat + xIR + xISS)), 2))
VlrBor := (SRound((((223.28 + ((18.1*(223.28/223.28))) + ((0*(223.28/223.28))/5)) - 0 + 
0) * 1206.98 / (1188.88 + 18.1 + xISS)), 2))
Valor Base = 241.38

Cofins:
VlrDev := SRound(VlrBas * (xQuery.Fields[3].AsFloat / xQuery.Fields[2].AsFloat), 2);
VlrDev := SRound(241.38 * (36.21 / 1206.98), 2);
VlrDev = 7.24

Pis:
VlrDev := SRound(VlrBas * ('VLRPIT' / 'VLRBPT'), 2);
VlrDev := SRound(241.38  * (7.85 / 1206.98), 2);
VlrDev := 1.57

CSLL:
VlrDev := SRound(VlrBas * ('VLRCSL' / 'VLRBCL'), 2);
VlrDev := SRound(241.38  * (12.17 / 1206.98), 2);
VlrDev := 2.41



2ª baixa:

160920-B

EhPrimeiraParcela: False
VlrBor := (SRound((((aVlrMov + ((xISS*(VlrMovAux/RegTcp.VlrOri))/xNumeroParcelas)) - 
aVlrDsc + xAdiantamento.AdiantamentoCalculado) * xQuery.Fields[2].AsFloat / 
(xQuery.Fields[1].AsFloat + xIR + xISS)), 2));
VlrBor := (SRound((((241.4 + ((0*(241.4/241.4))/5)) - 0 + 0) * 1206.98 / (1188.88 + 18.1 
+ 0)), 2));
Valor Base = 241.4

Cofins:
VlrDev := SRound(VlrBas * (xQuery.Fields[3].AsFloat / xQuery.Fields[2].AsFloat), 2);
VlrDev := SRound(241.4 * (36.21 / 1206.98), 2);
VlrDev = 7.24

Pis:
VlrDev := SRound(VlrBas * ('VLRPIT' / 'VLRBPT'), 2);
VlrDev := SRound(241.4  * (7.85 / 1206.98), 2);
VlrDev := 1.57

CSLL:
VlrDev := SRound(VlrBas * ('VLRCSL' / 'VLRBCL'), 2);
VlrDev := SRound(241.4  * (12.17 / 1206.98), 2);
VlrDev := 2.41



Valores retidos corretamente:


